
Beispiel einer Bilanz 
 
 
 

Bernd Schnell, Transporte    Bilanz zum 31.12.2002 
 
 
Aktiva 
 
 
A. Anlagevermögen 

•Schiff     €  320.000,- 

•Fuhrpark PKW    €      5.000,- 

•Büroeinrichtung    €      2.000,- 
 
B. Umlaufvermögen 

•Gasöl     €    10.000,- 

•Forderungen    €    10.000,- 

•Bank     €      1.000,- 

•Kasse     €         500,- 
 
C. Rechnungsabgrenzungsposten 

•Versicherung    €    10.000,- 
 
Bilanzsumme    €  358.500,- 
 
 

 
Passiva 
 
 
A. Eigenkapital 

•Anfangskapital  €  45.000,- 

•Gewinn   €  73.680,- 

•Entnahmen        - €  78.680,-  €    40.000,- 
 
B. Rückstellungen 

•Gewerbesteuer     €      1.000,- 
 
C. Verbindlichkeiten 

•Bank-Kredit     €  316.000,- 

•Umsatzsteuer     €      1.500,- 
 
 
 
Bilanzsumme     €  358.500,- 
 


